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FERE—MEENEINE SEENRMNKRYR. BN, LR=ARBRERE—FTRNHN>
9.

FAFERE—THFRUEERNITERREE NATEREBED BTERENERIR,
FREFSHBECERZIBRE MR, RER{ENADH %4 NAD', &idUE NADH 7 340nm 4t
WAENRISE, HEMITEHEAPITERREE.

— WFIZHYE A FIECH -
BRI ik REEXR y- i
RER KA 60mLx1 i 4°CIRTF

& A BT RJL TS B L ER IR R
8, SXHEM0.3mL EIBKARE

35— M5 2 -20°C

L ]2 % BT | 5 et 2m0cm
5, BILRERH, SENAE.
AL TRED, EHAEN

T — 35 1 -20°C

L e B | e, mmo.s5mL A ERER

HFI= 15mL j&fkx1 # 4°CIRTF

. . FCBF | WRRALTRED, ERTEA

A W1 % W by TR

R7#F SR, BN 0.28mL KRR %

=\ FEREEAEm:
FRtR(Y. 96 FLIR. RO, TTIARNTERIC. HHEFZEEK,
MU, #r5ER 2 2 NE -
EWIERSKIGANER 2 MERBFUNE, THRAHERER, BREXKRIE, BRILEHFERTRT
REE!
1. MEARBERL:
@ ARFEAR: 0.1gHAMEK (KORBMHEARARINER 02g £4) , /i 1ImL fREBURTAE, HIZES
EEEFEE| EP B, 12000rpm, FIRE/0 10min, FiERTN.
[GE) : HEMEAE, TRBALARE () : BEURIAFFA(mL)A 1: 5~10 BIELBHIIREL
@ HE/EEHFA
EREMARNMEEZECERN, BOEBEFLE 500 THARESAMEMN ImL 20K, KABRE
IR E S 2R (ThEE 300w, #BF 3%, [(81f@ 7 &, ZASE 3min) ; 12000rpm, FIREE (s 10min,
B EEEK N,
[GF] - BEMEASE, TRBAR/EEHE (10441 : BEUERAFR (mL) A 500~1000: 1 AIEEFIFREL
@ BEHR BEREEATEERN, &8, BORRLIBRN,
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@ FERFBEEER (25°C) .
@ 7 96 FLAR PR INA
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RABFR (uL) WEE ZAEE (M—XR)
(EFIN 10
ZRIAK 10
I — 10 10
= 10 10
RA= 165 165
BE, BB (25°C) T, KR 10min f5F 340nm 4B AL,
i 5 5 | 5
BE, BB (25°C) T, KR 20min F 340nm MEERE EH
A2 {E (FABEHRSERE), TLEKRNAE, BEE 2 25RAR
HERFTFAE) . AA= (Al-A2) E- (Al-A2) =H,

GE] 1LENRTRNTSE, ERM20min/EEiSENRR, ATXARIEFE: 3min, BfElmin, KEFHIERHZ
Ee. REBFERENEENA2E.
2. EAVEBELS, ARURDRFI—/E (neul) , NRFI=MEREMN; SR #ARE (dnsul) , WK
FI=FREM; MXTENVIERANATETITE.
3. BAAREERD, WIEMEAE (2opl) , MIAF=MHRED . MKEREHVIFRANARERITHE.
BAAEEKRT04, FHEHEAER, BREBDEAANTELAKITE.
£\ gﬁ%i-l_%:
1. BRARAREITE:
IR S Emg/g BEE)=[AA+(exd)]xV2x103xMr+=(WxV1+V)=1.23xAA~W
2. R EEITE:
ISR A B (mg/ 104 cell)=[AA+(exd)]xV2x 103xMr+(4A R Ex V1+V)
=1.23xAA-4AAEE
3. BREHRERITE:
ISR & B (mg/mL)=[AA+(exd)[xV2x 103xMr+V1=1.23xAA

e---NADH Py BE /R IR H & £46.3x10°L/mol/cm; d---Jt12EEE, 0.5cm,

V- 32BURATR, ImL; V1---#AR&EFR, 10uL=0.01mL;
V2--- R 7 BAFL, 200uL=2x104L; Mr---tTiR 7 F 8, 192.1;
W---HARE, g RIRI N Z&-—-5Smg/L,
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